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FUNCTIONS section

t.tt#qj0Bsecnres:=y
•  RECALL  THE  DEFINITION  OF  A  FUNCTION

, & BASIC  FACTS

REGARDING  FUNCTIONS

RECALL  GRAPHING  FUNCTIONSKKMMIM.mn#=eM**,H

|DEFlN#N-| A FUNCTION is  A RULE  THAT TAKES CERTAIN VALUES  As  INPUTS  AND  ASSIGNS$¥#N###*
To  each  input  Exactly ONE  OUTPUT
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MANIPULATES THIS INPUT  IN  SOME  WAY , & THEN&SPITS  OUT A NEW THING ( Output )We
t.IT

f.tt#raeFaoeFunaoN
#mm#* #€?I

f-
- - - - -

,

r
. . . . - .

,

I 1
1

70
.

1

|
z

1

,

| 1

, \| Its A  Function
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, µ Not A FUNCDON

1 a
1

1
1

1

.

' 3 1

,
,

>

@
l

,

( why ? )
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- THE  VALUE 2 Is  NOI SENT TO  EXACTLY ONE  OUTPUT .
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4%14,0%74*0=4,4 YOU 'll OFTEN SEE FUNCTIONS WRHTENLIKE :#
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THE OUTPUT OF  my
y is the  output

I ↳
 ×  is the  input -

-
-
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FUNLRON DEPENDS
1 , -

l 1 ON MY INPUT .

or  dependent  variable 1

,
or  independent  variable

¥"

is the  name  of the function .

I\ DEFINMON • THE SET OF ALL POSSIBLE INPUTS Is CALLED THE  DOMAIN OF  THE FUNCTION¥%##-#%TT
• Tµe  get  of  ALL possible  outputs Is  CALLED  THE RANGE  OF  THE  FUNCDON

text##,,#,a F%tI¥] 60 BACK  TO PREVOUS  EXAMPLE  § LABEL DOMAIN  & RANGE

HEFEI CONSIDER fcx )=X2

DOMAIN :  WHAT VALUES OF X CAN 1 PLUG IN ? ANY !

WRITE : ALL REAL #SEREta ,
A )

.

RANGE :  WHAT #s  DO  I  GET  AS  OUTPUTS ?  WELL . .  ONLY POSITIVE #S
,

AND  ZERO !

[ 0
, a) #¥f¥]

MAKE  Up A  FUNCTION  WHOSE  DOMAIN  IS [ 0
,  a)

.

WHAT  15 THE  RANGE Of YOUR FUNCTION ?

|DEF#7=| THE GRAPH OF A @EAVVALUED) FUNCTION f  WITH  Domain D is :4%51*5*1
{ ( x. th ) )|×tD}e*2

IT'S JUST  THE  SET  OF  PAIRS ( input ,
Output )
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0 O.O = 0
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1 1.1 = 1
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x - axis
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y - AXIS
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# LET f  BE A  FUNCDON  of  × .

• THE  X - INTERCEPTS  ARE  THE  POINTS ( X ,O ) ON  THE GRAPH

•  THE Y - INTERCEPTS Is  THE  POINT ( 0 , FLO) ) ON THE  GRAPH

111 =  X - INTERCEPTS

N =Y- INTERCEPTS ✓Ef • ¥
3 x - intercepts No  x - intercepts P x - intercept

1 y
. intercept t y

- intercept P y
. intercept

T.mu#mta=EAy-inteFEP=yToFY|
• WHAT'S THE MAX # OF y - INTERCEPTS THAT A FUNCTION CAN HAVE ? WHY ?EKEM.mn#a,e##m###,#¥


